Panel #£X1 Length: 12'9" Height: 11' 2-5/8" First Stud Face @8-1/4" (1' 4" o.c.) Diagonal: 16' 10-13/16"

' 12'9" 4
Q{174
F C C D
(3) 2x12
8'X3“
E A 8'1-1/2" A B
. LEPRTI 7o ¥ 7o ¥ 35778" 17116 03B (8)
. GD-2
Top Plates: 2x6 SPF #2 12'9" Bottom Plates: 2x6 SPF #2 12'9"
Studs: (3) 2x6 SPF #2 10' 10-1/8"
Components & Subcomponents Start End
GD-2 (8' 1-1/2") 1'0" 10' 3"
(1) 2x6 SPF #2 12'1-3/8" 12' 2-7/8"
4S 12' 3" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"  End: Hold 6-1/8"
Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #£X2 Length: 13'4" Height: 11' 2-5/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 17' 4-1/8"

N 13'4" ;
I M
0-1/8
D B B B
(:’bxg
80"
i f 1 10-3/4"
= X
6'1-3/4"
C A A A
1 10—%
Qi178
. 5+ 7o + 7o + 7o { 7116 0SB (8)
1-W1 _ _ _ X6L
:\ |
Top Plates: 2x6 SPF #2 13'4" Bottom Plates: 2x6 SPF #2 13'4"
Studs: (6) 2x6 SPF #2 10' 10-1/8"
Components & Subcomponents Start End
1-W1 (8'0") 1'7-1/8" 7'2-7/8"
2X6 L (2x6 Dn) 12'9" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Flush  End: Flush
Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX3 Length: 6' 1" Height: 11' 2-5/8" First Stud Face @8-1/4" (1' 4" o.c.) Diagonal: 12' 7-13/16"

D C
= s
MY
—lo
B A
¥ RE + o 1 7116 OSB (8)

I3
(’?v—
&=
o=
B3
B3

Top Plates: 2x6 SPF #2 6'1" Bottom Plates: 2x6 SPF #2 6' 1"
Studs: (5) 2x6 SPF #2 10' 10-1/8"

Components & Subcomponents Start End

3S 4' 6-3/4" 4'11-1/4"
Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Flush

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX4 Length: 3'3" Height: 10' 1-1/8" First Stud Face @6-1/4" (1' 4" o.c.) Diagonal: 10' 5-13/16"

N 3'3" J
I M
B
A
. ¥ T2 {7116 0SB (8)
2X6 L
a
Top Plates: 2x6 SPF #2 3'3" Bottom Plates: 2x6 SPF #2 3'3"
Studs: (3) 2x6 SPF #2 9' 8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Up) 2'8" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"  End: Hold 6-1/8"

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #£X5 Length: 6' 8-1/2" Height: 10" 1-1/8" First Stud Face @5' 3-3/4" (1' 4" o.c.) Diagonal: 12' 0-3/16"

L 6'8-1/2" |
) )
T |
H'6-7/8"
D G
(3)y2x12
g0
5 S 2 z)—(3/4"
- |® T
Ll 6' 1-3/4
B A
1 10-14
1'6-7/8"
k =Y + o { 7116 0SB (8)

3S 1-W2 35S 2X6L
7

2l

Top Plates: 2x6 SPF #2 6'8-1/2" Bottom Plates: 2x6 SPF #2 6'8-1/2"
Studs: (2) 2x6 SPF #2 9'8-5/8"

Components & Subcomponents Start End

3S 3-1/2" 8"

1-W2 (8' 0") 1'0-7/8" 4' 6-5/8"
38 57" 5'11-1/2"
2X6 L (2x6 Dn) 6'1-1/2" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Flush  End: Flush
Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX9 Length: 5' 8-1/2" Height: 10" 1-1/8" First Stud Face @3-3/4" (1' 4" o.c.) Diagonal: 11' 5-7/8"

! 5'8-1/2" 4
ol L]
D =
(3) 2x12
50"
53 283
— |0
> 6 1-34
B A
1'10-1/4"
1 77/8"

1 716 0SB (8)

4 N
P T 4'0"

1-W2

oo
25 KR
Satoteld [o3%8%0e%o%e%S
ossss] RS
XXXRA RRRRRK

k4
J 090
RN,

|
©
=
0
~
<

1'1-7/8"—E

Top Plates: 2x6 SPF #2 5'8-1/2" Bottom Plates: 2x6 SPF #2 5'8-1/2"
Studs: (3) 2x6 SPF #2 9'8-5/8"

Components & Subcomponents Start End

1-W2 (8'0") 1'1-7/8" 4' 7-5/8"
Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Flush

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #£X10 Length: 5'2" Height: 10' 1-1/8" Diagonal: 11' 2-3/4"

J 5'2 J
F N
i |
D (&3
(3) 2x12
80"
% =2 2'5%9/4"
= o X
oo 6'1-3/4"
B A
1' 10-1/4"
8-5/8"
T A 3578 1716088 ®
1-W3
ezl
Top Plates: 2x6 SPF #2 5'2" Bottom Plates: 2x6 SPF #2 5'2"
Studs: 2x6 SPF #2 9'8-5/8"
Components & Subcomponents Start End
1-W3 (8' 0") 8-5/8" 3'11-3/8"
(1) 2x6 SPF #2 4' 6-3/8" 4'7-7/8"
4S 4| 8" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"  End: Hold 6-1/8"
Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #£X11 Length: 10' 5-1/2" Height: 10' 1-1/8" First Stud Face @1' 0-3/4" (1' 4" o.c.) Diagonal: 14' 5-3/8"

4 10' 5-1/2" J
[ P
] .
g{1/4"
D C C
(3)51»2\
80"
D |5
e
= |0
5 |
&
B A X A
g
¥ 511 + o + o { 7116 0SB (8)
1-D1 2x6 L
-‘ -
Q Q
3 3
£ =
[e2]

Top Plates: 2x6 SPF #2 10'5-1/2" Bottom Plates: 2x6 SPF #2 10'5-1/2"
Studs: (3) 2x6 SPF #2 9'8-5/8"

Components & Subcomponents Start End
1-D1 (8'0") 1'7-1/2" 8'4-1/2"
2X6 L (2x6 Dn) 9'10-1/2" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"  End: Flush

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #£X12 Length: 5'2" Height: 10' 1-1/8" Diagonal: 11' 2-3/4"

f &z }
1T 1 |
11"8-1/8" W‘l\ J
D C
(3) 2x12
80"
5 § 2 5-34"
g X
o o 6'1-3/4'
B A
1' 10-1/4"
?11/8"
o ok o {7116 OSB (8)
1-W3 2X6 L
] .
Top Plates: 2x6 SPF #2 5'2" Bottom Plates: 2x6 SPF #2 5'2"
Studs: 2x6 SPF #2 9'8-5/8"
Components & Subcomponents Start End
1-W3 (8' 0") 9-1/8" 3'11-7/8"
2X6 L (2x6 Dn) 4'7" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Flush  End: Flush

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #£X13 Length: 9'2" Height: 10' 1-1/8" First Stud Face @1' 1-1/4" (1' 4" o.c.) Diagonal: 13' 6-1/2"

4 9'2 |
-~
F D E
%
2 |5
|0
> @
C A B
1
g
N N N K|
DR AT7 40" F 35778 1 7/16 OSB (8)

Top Plates: 2x6 SPF #2 9'2" Bottom Plates: 2x6 SPF #2 9'2"
Studs: (7) 2x6 SPF #2 9' 8-5/8"

Components & Subcomponents Start End

38 7' 2-1/4" 7' 6-3/4"

(1) 2x6 SPF #2 8' 6-3/8" 8' 7-7/8"

4S 8' 8" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"  End: Hold 6-1/8"

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #£X14 Length: 14' 8" Height: 10" 1-1/8"

First Stud Face @1' 3-1/4" (1'4" o.c.)

Diagonal: 17' 8-13/16"

L 14'8' |
F M
| b | L
C C C c
\@x 2
80"
4'10-3/4"
_ X
E\o % 4'5-3/4"
s
3 A A A
3 6-1/4"
8-5/8"
. b 78 ¥ 7o ¥ 7o + 7o | 7116 0SB (8)
38 . 1-w4 2X6 L
'ZNN)E:N |
T & & =
il 2 e
Top Plates: 2x6 SPF #2 14'8" Bottom Plates: 2x6 SPF #2 14'8"
Studs: (7) 2x6 SPF #2 9' 8-5/8"
Components & Subcomponents Start End
38 2' 11-3/4" 3'4-1/4"
1-W4 (8'0") 3' 6-5/8" 9' 2-3/8"
2X6 L (2x6 Dn) 14' 1" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Flush

Blocking & Letin

End: Flush

2x6 SPF #2 Inline At: 8' 0"



Panel #£X15 Length: 7' 10-1/2" Height: 10' 1-1/8" First Stud Face @1' 1-3/4" (1' 4" o.c.)

| 7' 10-1/2"

F : D
D |50
Ll
= |
> @

C L A

RO J J
Fogr T 2'8" F 40"

Top Plates: 2x6 SPF #2 7'10-1/2" Bottom Plates: 2x6 SPF #2 7' 10-1/2"

Studs: (6) 2x6 SPF #2 9'8-5/8"

Components & Subcomponents Start

End

5 11-1/2"

Diagonal: 12' 8-7/16"

{ 7116 0SB (8)

2X6 L (2x6 Dn) 5" 11-1/2"
Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"  End: Flush

Blocking & Letin

6'6-1/2"

2x6 SPF #2 Inline At: 8' 0"



Panel #EX16 Length: 2' 1" Height: 10' 1-1/8" First Stud Face @8-1/4" (1' 4" o.c.) Diagonal: 10' 2-3/16"

9'11-5/8
9' 8-5/8"

L

1} m6 058 ®)

1]
(2]

2X6 L

:‘ :‘ =
¥y @
Top Plates: 2x6 SPF #2 2'1" Bottom Plates: 2x6 SPF #2 2' 1"
Studs: (2) 2x6 SPF #2 9' 8-5/8"
Components & Subcomponents Start End
38 2-3/4" 7-1/4"
2X6 L (2x6 Dn) 16" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Flush  End: Flush

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #£EX17 Length: 14' 1" Height: 10" 1-1/8" First Stud Face @8-1/4" (1'4" o.c.) Diagonal: 17' 3-1/16"

14' 1"
) }
11N fm L]
1178
F D D E]
(3) 212
50
52 25-3/4"
T o
~ o 6'1-3/4
C A A B
1'10-1/4"
1 8"
Ty | | . { 7116 0SB (8
26 T 7o T 7o T 3578 t @
1-W5 2X6C

4
R R e R B
I sl NN
AAAAAAAA SR i

Top Plates: 2x6 SPF #2 14' 1" Bottom Plates: 2x6 SPF #2 14' 1"
Studs: (9) 2x6 SPF #2 9'8-5/8"

Components & Subcomponents Start End
1-W5 (8' 0") 9'1-1/8" 12' 3-7/8"
2X6 C (2x6) 13'6" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"  End: Hold 6-1/8"

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #£X18 Length: 13" 1-1/2"

Height: 10" 1-1/8"

First Stud Face @1' 0-3/4" (1'4" o.c.)

Diagonal: 16' 5-3/4"

{ 7116 0SB (8)

I 13'1-1/2" |
) P
1 e
D C C c
(3) 2x12
80"
% g 7' 3-34"
= | X
5 | 6'1-3/4"
B A A A
1'10-1/4"
5-1/8"
RN 4 q q
e T 40" r 40" r 40"
1-W6

R R
sl
i Msins

R ]
ey
s

2'3-5/8"—

Top Plates: 2x6 SPF #2 13'1-1/2" Bottom Plates: 2x6 SPF #2 13'1-1/2"
Studs: (4) 2x6 SPF #2 9' 8-5/8"

Components & Subcomponents Start End

1-W6 (8' 0") 2' 3-5/8" 10' 4-3/8"

3S-L (2x4 Dn) 12' 5-1/2" @ End

Exterior Sheathing: 7/16 OSB (8)

Blocking & Letin

Start: Fly 5-1/2"

End: Flush

2x6 SPF #2 Inline At: 8' 0"



Panel #£X19 Length: 1' 1-1/2" Height: 10" 1-1/8" Diagonal: 10' 0-3/8"

1'1-1/2"
B

9'11-5/8
9' 8-5/8"

3/gt /116 OSB (8)

il

Il
3S-U |
)
&

Top Plates: 2x6 SPF #2 1'1-1/2" Bottom Plates: 2x6 SPF #2 1'1-1/2"

Components & Subcomponents Start End
3S-L (2x4 Up) @ Start 8"
2X6 L (2x6 Dn) 6-1/2" @ End

Exterior Sheathing: 7/16 OSB (8) Start: Hold 6-1/8"  End: Flush



Panel #EX20 Length: 10' 5" Height: 10’ 1-1/8" First Stud Face @1' 0-1/4" (1' 4" o.c.) Diagonal: 14' 5"

R .

9'11-5/8
9'8-5/8"

62"
B A X A
80
N | 4 4 q
T o5 T~ 70" T~ 7o N 7/16 OSB (8)
1-D2

5 R
PR R R
Soretosetetetesd So3eSiSssoresotetotetotel
[eS05e%0te%ste%s Pose o Se%uSosetoretoretel

%
S

Top Plates: 2x6 SPF #2 10'5" Bottom Plates: 2x6 SPF #2 10' 5"
Studs: (4) 2x6 SPF #2 9'8-5/8"

Components & Subcomponents Start End

1_D2 (8’ Oll) 1! 9" 8! 8ll
Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Flush

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #£X21 Length: 1' 1-1/2" Height: 10" 1-1/8" Diagonal: 10' 0-3/8"

1'1-1/2"
B

9'11-5/8
9' 8-5/8"

3/gt /116 OSB (8)

2X6L 4S8

i

A‘MAA

a
o
=

;
~

=7

M

I

il

Top Plates: 2x6 SPF #2 1'1-1/2" Bottom Plates: 2x6 SPF #2 1'1-1/2"

Components & Subcomponents Start End
2X6 L (2x6 Dn) @ Start 7"
4S 7-1/2" @ End

Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Hold 6-1/8"

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #£X22 Length: 11' 6-1/2"

9' 11-5/8"
9'8-5/8"

Height: 10" 1-1/8"

11'6-1/2"

First Stud Face @1' 3-1/4" (1'4" o.c.)

Diagonal: 15' 3"

.

vl

B
(3) 2x12

' 3-3/4"
X

6' \-3/4"

g0

4 7/16 0SB (8)

0

1-W6

0

|
0
<
i
o
=

Top Plates: 2x6 SPF #2 11'6-1/2" Bottom Plates: 2x6 SPF #2 11'6-1/2"
Studs: (4) 2x6 SPF #2 9' 8-5/8"

Components & Subcomponents Start End

1-W6 (8' 0") 1'9-1/8" 9'9-7/8"

Exterior Sheathing: 7/16 OSB (8)  Start: Flush  End: Fly 5-1/2"

Blocking & Letin

2x6 SPF #2

Inline At: 8' 0"



Panel #£X23 Length: 1'0" Height: 11' 2-5/8" Diagonal: 11' 1-11/16"

10"

11" 1-1/8"

10’ 10-1/8"

T3k 7116 0SB 8)

4s

!

i

Top Plates: 2x6 SPF #2 1'0" Bottom Plates: 2x6 SPF #2 1'Q"
Studs: 2x6 SPF #2 10' 10-1/8"

Components & Subcomponents Start End

(1) 2x6 SPF #2 4-3/8" 5-7/8"

48 6" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"

Blocking & Letin

End: Hold 6-1/8"

2x6 SPF #2 Inline At: 8' 0"



Panel #£X24 Length: 5' 10-1/2" Height: 21' 7-3/8" First Stud Face @1' 9-3/4" (1'4" o.c.)

; 5'10-1/2" .

13'6-7/8"

W g aor 7116 OSB (8)

2'4-1/16"

L
T
SR
—m

i
(oot

Top Plates: 2x6 SPF #2 9'11-1/2" 53.1\ Rk \-53.1 Bottom Plat:ﬁé;,: 2x6 SPF #2 5'10-1/2"

Studs: 2x6 SPF #2 15'1-3/16" -53.1/ Rk | 2x6 SPF #2 16'10-9/16" -53.1/ Rk |
2x6 SPF #2 18'7-7/8" -53.1/ Rk |

Components & Subcomponents Start End
2X6 L (2x6 Up) @ Start 7"

38 4'9-1/4" 5'1-3/4"
2X6 L (2x6 Dn) 5'3-1/2" @ End

Exterior Sheathing: 7/16 OSB (8)  Start: Hold 6-1/8"  End: Flush
Blocking & Letin

2x6 SPF #2 Inline At: 8' 0", 16' 0"



Panel #£X25 Length: 1'0" Height: 11' 2-5/8" Diagonal: 11' 1-11/16"

1o

11" 1-1/8"

10’ 10-1/8"

e

f—g1 7116 08B (8)

Top Plates: 2x6 SPF #2 1'0" Bottom Plates: 2x6 SPF #2 1'Q"
Studs: 2x6 SPF #2 10' 10-1/8"

Components & Subcomponents Start End

2X6 L (2x6 Dn) @ Start 7"

Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Flush

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #£X26 Length: 10' 1" Height: 11' 2-5/8" First Stud Face @1' 1-3/4" (1' 4" o.c.) Diagonal: 14' 11-7/8"

N 101" ,
F M
Hr7-178"
D C C
(3) 2x12
80"
i g 4'10,8/4"
T 6'1-3/4"
B A A
1' 10-1/4"
HrI72a78"
- ¥ T + o + o { 7/16 0SB (8)
1-W1
Top Plates: 2x6 SPF #2 10" 1" Bottom Plates: 2x6 SPF #2 10" 1"
Studs: (4) 2x6 SPF #2 10' 10-1/8"
Components & Subcomponents Start End
1-W1 (8'0") 2' 2-5/8" 7' 10-3/8"

Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"  End: Fly 5-1/2"

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #£X27 Length: 1'0" Height: 11' 2-5/8" Diagonal: 11' 1-11/16"

10"
B
A
- f—g1 7116 08B (8)
__2X6L
Top Plates: 2x6 SPF #2 1'0" Bottom Plates: 2x6 SPF #2 1'Q"
Studs: 2x6 SPF #2 10' 10-1/8"
Components & Subcomponents Start End
2X6 L (2x6 Dn) 5" @ End

Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Flush

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #£EX28 Length: 5' 10-1/2" Height: 21' 7-3/8" First Stud Face @1' 9-3/4" (1'4" o.c.)

. 5'10-1/2" ‘

uyD

=

R

21'4-7/8"

2»ﬂ—*2~' e 716 OSB (8)

1"10-1/2"

&
N
i
%)

~
S

Top Plates: 2x6 SPF #2 9'11-1/2" -53.1/ Rk /53.1 Bottom Plates: 2x6 SPF #2 5' 10-1/2"

Studs: 2x6 SPF #2 19'4-9/16" 53.1\ Rk | 2x6 SPF #2 17'7-3/16" 53.1\ Rk |
2x6 SPF #2 15'9-7/8" 53.1\ Rk |

Components & Subcomponents Start End
2X6 L (2x6 Dn) @ Start 7"
2X6 L (2x6 Up) 5'3-1/2" @ End

Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Hold 6-1/8"

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0", 16' 0"



Panel #£EX29 Length: 21'2" Height: 11' 2-5/8" First Stud Face @2-3/4" (1' 4" o.c.) Diagonal: 23' 10-3/4"

1 21'2 J
F M
? B/4Y
D G S G G C
(3) 1.75x16
16'3"
B A A s A A A
- N N| N| N| N| N|
F 21" F 70" F 40" F 70" r 40" r 40"
GD-1
Top Plates: 2x6 SPF #2 21'2" Bottom Plates: 2x6 SPF #2 21'2"
Studs: (5) 2x6 SPF #2 10' 10-1/8"
Components & Subcomponents Start End
GD-1 (8" 1-1/2") 110" 19'4"

Exterior Sheathing: 7/16 OSB (8)  Start: Fly 5-1/2"  End: Fly 5-1/2"

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #EX32 Length: 2' 0" Height: 11' 2-5/8" First Stud Face @7-1/4" (1' 4" o.c.) Diagonal: 11' 3-1/4"

20"

11" 1-1/8"

10’ 10-1/8"

ke

g} 7116058 (8)

Top Plates: 2x6 SPF #2 2'Q" Bottom Plates: 2x6 SPF #2 2' 0"
Studs: (2) 2x6 SPF #2 10' 10-1/8"

Components & Subcomponents Start End

2X6 L (2x6 Dn) 15" @ End

Exterior Sheathing: 7/16 OSB (8) Start: Flush  End: Flush

Blocking & Letin

2x6 SPF #2 Inline At: 8' 0"



Panel #33 Length: 14' 8" Height: 10' 1-1/8" First Stud Face @1' 3-1/4" (1'4" o.c.) Diagonal: 17' 8-13/16"

9'11-5/8
9'8-5/8"

oo
(2]

2X6 L

=
=
L
=
=
=
=
=
=
=
=
=
=

1'5-1/2"—
2'0-1/2"—
13'8-3/4"—
14" 1-1/4"—

Top Plates: 2x6 SPF #2 14'8" Bottom Plates: 2x6 SPF #2 14'8"
Studs: (12) 2x6 SPF #2 9'8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Dn) 1'5-1/2" 2'0-1/2"

3S 13' 8-3/4" 14" 1-1/4"



Panel #34 Length: 14'8" Height: 10' 1-1/8" First Stud Face @1' 3-1/4" (1'4" o.c.) Diagonal: 17' 8-13/16"

J 14' 8" J
T P
n5-1/2"
(3) 2x12
6 10-1/2"
D |50
9|5
= |
> &
30"
X
6'10-1/2"
4S GDS 3s
e R MR 1
¥ b
N i
~ oo

2x6 SPF #2 14'8" Bottom Plates: 2x6 SPF #2 14'8"

Top Plates:
Studs: (8) 2x6 SPF #2 9' 8-5/8"
Components & Subcomponents Start End
4S 8' 7-3/4" 9' 1-3/4"
GDS (6' 10-1/2") 9' 1-3/4" 12' 10-3/4"
12" 11" 13' 3-1/2"

3S



Panel #35 Length: 3' 7" Height: 10' 1-1/8" First Stud Face @10-1/4" (1' 4" o.c.) Diagonal: 10' 7-1/8"

9' 11-5/8"
9' 8-5/8

2'2-1/2"—

|
N
=
=
i
)
-

Top Plates: 2x6 SPF #2 3'7" Bottom Plates: 2x6 SPF #2 3'7"

Studs: (3) 2x6 SPF #2 9' 8-5/8"

Components & Subcomponents Start End

4S8 1'8-1/2" 2'2-1/2"



Panel #36 Length: 6' 1-1/4" Height: 10' 1-1/8" First Stud Face @8-1/2" (1' 4" o.c.) Diagonal: 11' 8-1/4"

N 6'1-1/4" |

9'11-5/8
9'8-5/8"

e i

Top Plates: 2x6 SPF #2 6'1-1/4" Bottom Plates: 2x6 SPF #2 6' 1-1/4"
Studs: (6) 2x6 SPF #2 9'8-5/8"




Panel #37 Length: 14'8" Height: 10' 1-1/8" First Stud Face @1' 3-1/4" (1'4" o.c.) Diagonal: 17' 8-13/16"

. 14' "
I P
= e
> &
48 3S 3S 3S
i N P@M K N RO | N N N\\ N
S cayy ¥y
= = TeE® =&
0 o o QRS ™~
N » 1\1'\: NN

2x4 SPF #2 14'8" Bottom Plates: 2x4 SPF #2 14'8"

Top Plates:
Studs: (10) 2x4 SPF #2 9'8-5/8"
Components & Subcomponents Start End
4S 2'8-1/4" 3'2-1/4"
3S 6' 10" 7'2-1/2"
38 7' 7-1/4" 7' 11-3/4"
12' 3-1/4" 12' 7-3/4"

3S



Panel #38 Length: 12' 0" Height: 10" 1

9' 11-5/8"
9'8-5/8

-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 15' 7-3/16"
12'0" J
[ N
e ]
1043/8"
@) 2x12
80"
30"
X
80"
38 48 1-C.01 2X6 L
i i N il P@MW WN\ N i N
Y % b kb o &
=6 3d 2%
@ oM i << [Ce] [Ce]

Top Plates: 2x4 SPF #2 12'0"
Studs: (6) 2x4 SPF #2 9'8-5/8"

Bottom Plates: 2x4 SPF #2 12'0"

Components & Subcomponents Start End

38 3'1-1/4" 3' 5-3/4"

48 3'10-3/8" 4'4-3/8"

1-C.01(8'0") 4'4-7/8" 8' 1-7/8"
8' 1-7/8" 8' 8-7/8"

2X6 L (2x6 Dn)



Panel #39 Length: 10' 11" Height: 10" 1-1/8" First Stud Face @2-1/4" (1' 4" o.c.) Diagonal: 14' 9-3/8"

10" 11" J

4"
(2) 2x12
70"
® %
9|5
— |
‘007
28"
X
700
1-C.02 2X6 L 3s 3s 28L
G i
3 ~ A ¥y ¥ ok b
& b © TR 9T 9 7
N © N~ N —
NN oo O L
[e2]

2x4 SPF #2 10'11" Bottom Plates: 2x4 SPF #2 10" 11"

Top Plates:
Studs: (5) 2x4 SPF #2 9' 8-5/8"

Components & Subcomponents Start End
1-C.02 (7' 0") 2'2" 57"

2X6 L (2x6 Dn) 57" 6'2"

38 7' 2-1/4" 7' 6-3/4"
3S 8' 2-3/4" 8'7-1/4"

9'11-1/8"

2x8 L (2x8 Dn) 9' 2-3/8"



Panel #40 Length: 12' 8" Height: 10' 1-1/8" First Stud Face @7-1/4" (1' 4" o.c.) Diagonal: 16' 1-7/16"

. 12'g" |
) P
91/4"
(2) 2x12
70"
0 1%
0I5
= e
> |
28"
X
70"
3S 3S 2x8 L 3S 48 1-C.02
L e e )
& B ° @ TR & A ~
) T o ~w QT T o7 ]
< o (o2} © — O ~ ~— -
; T b o o o

Top Plates: 2x4 SPF #2 12'8" Bottom Plates: 2x4 SPF #2 12'8"
Studs: (4) 2x4 SPF #2 9'8-5/8"

Components & Subcomponents Start End

3S @ Start 4-1/2"
3S 2'10-1/2" 3'3"
2x8 L (2x8 Dn) 4'9-7/8" 5' 6-5/8"
38 6' 1-3/4" 6'6-1/4"
48 8' 7-1/2" 9" 1-1/2"

1-C.02 (7' 0") 9 2" 12'7"



Panel #41 Length: 10'5" Height: 10" 1-1/8" First Stud Face @5' 0-1/4" (1' 4" o.c.) Diagonal: 14' 5"

. 10'5" .

943/8" Ho"

8o 710-172"

9'11-5/8
9' 8-5/8"

30" 30"

X X
80" 7'10-1/2"

i 1-C.03 2X6 C i 2X6L 1-1D4 T
1 ] T I
x S ¥ ¥ X
= M i o
3% %0 ® o <

o o T )
o —

Top Plates: 2x4 SPF #2 10'5" Bottom Plates: 2x4 SPF #2 10'5"
Studs: (2) 2x4 SPF #2 9'8-5/8"

Components & Subcomponents Start End
1-C.0 3 (7' 10-1/2") 2-7/8" 3' 8-7/8"
2X6 C (2x6) 3'10" 4'5"

2X6 L (2x6 Dn) 6' 3-1/4" 6' 10-1/4"

1-ID4 (7' 9") 6' 10-1/4" 10' 4-1/4"



Panel #42 Length: 3' 7-1/2" Height: 10' 1-1/8" Diagonal: 10' 7-5/16"

J 3'7-1/2" J

70"

9' 11-5/8"
9'8-5/8

2g
X
70
ﬁ/*ﬁ;
1-C.07
N W VN‘ i
% %
I3 B3]
~ <
™

Top Plates: 2x4 SPF #2 3'7-1/2" Bottom Plates: 2x4 SPF #2 3'7-1/2"

Studs: (2) 2x4 SPF #2 9'8-5/8"

Start End

Components & Subcomponents

1-C.O0 7 (6' 10-1/2")

2-3/4" 3'4-3/4"



Panel #43 Length: 13'5" Height: 10' 1-1/8" First Stud Face @1' 4-1/4" (1' 4" o.c.) Diagonal: 16' 8-9/16"

J 13'5" J
) P
o
80"
)
D5
= |0
&> |2
68"
X
80"
3s 1-C.06
11— 1
& ¥ ¥
: ; ;
« 2

Top Plates: 2x6 SPF #2 13'5" Bottom Plates: 2x6 SPF #2 13'5"
Studs: (5) 2x6 SPF #2 9'8-5/8"

Components & Subcomponents Start End
3S @ Start 4-1/2"
3' 3-1/4" 10' 5-1/4"

1-C.0 6 (7' 10-1/2")



Diagonal: 17' 8-13/16"

Panel #44 Length: 14' 8"

Height: 10" 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.)

9' 11-5/8"
9' 8-5/8

2x6 SPF #2 14'8"

Bottom Plates: 2x6 SPF #2 14'8"

14'8"
P
i I |
1141/4"
(3) 2x12
80"
810"
X
80"
3S 2X6 L 1-C.05
B s — i
¥ 5 A A % &
T KR T = =
©2 - ® -
N N

Top Plates:
Studs: (4) 2x6 SPF #2 9' 8-5/8"
Components & Subcomponents Start End
38 6-1/4" 10-3/4"
2X6 L (2x6 Up) 2'1-1/2" 2'8-1/2"
4| 4" 141 2"

1-C.0 5 (8'0")



Panel #45 Length: 4' 10-1/4" Height: 10" 1-1/8"

Top Plates: 2x6 SPF #2 4' 10-1/4"
Studs: 2x6 SPF #2 9'8-5/8"

Diagonal: 11' 1-1/16"

4'10-1/4"

(3) 2x12

9' 11-5/8"
9' 8-5/8

7'10-1/2"

30"
X
7'10-1/2"

1-ID1

2X6 L

il

]

T
>
»

Bottom Plates: 2x6 SPF #2 4' 10-1/4"

Components & Subcomponents Start End
1-ID1 (7' 10-1/2") @ Start 3'9"
2X6 L (2x6 Dn) 3'9" 4'4"



Panel #46 Length: 6' 1-1/4" Height: 10' 1-1/8" First Stud Face @8-1/2" (1' 4" o.c.) Diagonal: 11' 8-1/4"

{ 6'1-1/4" q

7'10-1/2"

9' 11-5/8"
9'8-5/8

2 g
X
7'10-1/2"

2X6 L 1-1D2

51 1-3/4"4%

2x4 SPF #2 6'1-1/4" Bottom Plates: 2x4 SPF #2 6' 1-1/4"

Top Plates:
Studs: (3) 2x4 SPF #2 9'8-5/8"
Components & Subcomponents Start End
2X6 L (2x6 Dn) 2'0-1/2" 2'7-1/2"
2' 9-3/4" 5'11-3/4"

1-1D2 (7' 9")



Panel #47 Length: 5' 2-1/2" Height: 10" 1-1/8"

9' 11-5/8"
9'8-5/8"

Diagonal: 11' 2-15/16"

5'2-1/2" J
[ N
172"
7'10-1/2"
ro
X
7'10-1/2"
1-1D3
g L
3 S
) -
“

Bottom Plates: 2x4 SPF #2 5'2-1/2"

Top Plates: 2x4 SPF #2 5'2-1/2"
Studs: (2) 2x4 SPF #2 9'8-5/8"
Components & Subcomponents Start End
3-1/4" 4'11-1/4"

1-ID3 (7' 9")



Panel #48 Length: 2' 5" Height: 10' 1-1/8" First Stud Face @1' 0-1/4" (1' 4" o.c.) Diagonal: 10' 3-1/16"

25

9'11-5/8
9' 8-5/8"

2X4 L

W =N
I
Top Plates: 2x4 SPF #2 2'5" Bottom Plates: 2x4 SPF #2 2'5"
Studs: (2) 2x4 SPF #2 9'8-5/8"
Components & Subcomponents Start End

2X4 L (2x4 Dn) 2'0" @ End



Panel #49 Length: 5'6" Height: 10" 1-1/8" First Stud Face @1' 5-1/4" (1' 4" o.c.) Diagonal: 11' 4-5/8"

J 5'6" J
I t
ﬁL‘,L
2l
O
= |
> |
ﬁ/*ﬁ;
3S 3S
X i | i X P@M
¥ % &
3 -
- © -
NN [re)

Top Plates: 2x4 SPF #2 5'6" Bottom Plates: 2x4 SPF #2 5'6"

Studs: (4) 2x4 SPF #2 9'8-5/8"

Components & Subcomponents Start End
38 2'1-3/4" 2'6-1/4"
5'1-1/2" @ End

3S



Panel #50 Length: 6' 1-1/4" Height: 10' 1-1/8" First Stud Face @8-1/2" (1' 4" o.c.) Diagonal: 11' 8-1/4"

N 6'1-1/4" J
I P
61178|
7' 10-1/2"
&%
)
= |
> &
2'8"
X
7'10-1/2"
1-ID2
M X W VN‘N N
% %
© o
e} ~
- <

Top Plates: 2x4 SPF #2 6'1-1/4" Bottom Plates: 2x4 SPF #2 6' 1-1/4"

Studs: (4) 2x4 SPF #2 9'8-5/8"

Start End

Components & Subcomponents

1-1D2 (7' 9")

1' 5-5/8" 4'7-5/8"



Panel #51 Length: 11'6" Height: 10' 1-1/8" First Stud Face @9-1/4" (1' 4" o.c.) Diagonal: 15' 2-5/8"

9' 11-5/8"
9'8-5/8

Top Plates: 2x4 SPF #2 11'6" Bottom Plates: 2x4 SPF #2 11'6"

Studs: (9) 2x4 SPF #2 9' 8-5/8"

Start End

Components & Subcomponents

3S

4'5-1/4" 4'9-3/4"



Panel #52 Length: 6" Height: 10' 1-1/8" Diagonal: 9' 11-3/4"

9'11-5/8
9'8-5/8"

!

N

)

N

Top Plates: 2x6 SPF #2 6" Bottom Plates: 2x6 SPF #2 6"
Studs: (2) 2x6 SPF #2 9'8-5/8"



Panel #53 Length: 6" Height: 10' 1-1/8" Diagonal: 9' 11-3/4"

9'11-5/8
9' 8-5/8"

L

Top Plates: 2x6 SPF #2 6" Bottom Plates: 2x6 SPF #2 6"
Studs: (2) 2x6 SPF #2 9'8-5/8"



